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Standard Form Task
You are in charge of buying the hamburger and chicken for a party. You have $60 to spend. The hamburger costs $2 per pound and chicken is $3 per pound. 

a.) Write an equation that represents the different amounts of hamburger, x, and chicken, y, that you can buy.
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(Don’t forget “let” statements)
b.) Graph this situation on a coordinate plane
c.) If you buy 15 pounds of hamburger, 
how many pounds of chicken can you buy?
d.) On the lines below, explain how you found the slope and y-intercept in order to graph the situation
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